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FOREWORD

The National Examinations Council of Tanzania is pleased to issue the report
on Candidates’ Item Response Analysis (CIRA) in Information and
Communication Technology (ICT) subject for the year 2022. The purpose of
this report is to inform teachers, parents, policy makers and other education
stakeholders the extent to which the candidates have responded to the
examination questions. The report will enable the stakeholders especially
college tutors to identify the topics which require more emphasis in the
teaching and learning process and take appropriate measures in order to
improve the performance of candidates.

The analysis presented in this report is intended to contribute towards
understanding the reasons behind the performance of candidates in the
examination. The report highlights the factors behind the candidates’ responses
to the examination questions. The analysis reveals that candidates who
performed well were able to provide appropriate responses because they had
sufficient knowledge on the subject content. Also they were appropriately able
to identify the requirements of the questions. The report also highlights the
reasons that made some candidates to fail to score high marks. Such factors
include failure to identify the demand of the questions, inability of expressing
themselves in English language as well as lack of knowledge on the tested
concepts.

The National Examinations Council of Tanzania believes that education
stakeholders will take proper measures to overcome the identified challenges in
order to improve the candidates’ performance in thisubject in future
examinations.

Finally, the Council would like to thank all the Examination Officers,
Examiners and all stakeholders who participated in the preparation and
dissemination of this report.

Athumani S. Amasi
EXECUTIVE SECRETARY
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1.0

INTRODUCTION

This report analyses candidates' item responses on the Diploma in
Secondary  Education  Examination in  Information  and
Communication Technology (ICT) subject for the year 2022. The
paper was set according to the 2009 Information and Communication
Technology syllabus for Diploma in Secondary Education. The
number of candidates who sat for this examination in 2022 was 4,154,
out of which 99.68 per cent passed the examination and 0.32 per cent
failed. In 2021, a total of 2,088 candidates sat for the examination of
which 98.74 per cent passed and 1.26 per cent failed. Therefore, the
performance of candidates has increased by 0.94 per cent.

The paper consisted of two sections, A and B with a total of fourteen
(14) questions. Section A consisted of ten (10) short answer questions
which carried 4 marks each. Section B had four compulsory questions
of which each carried 15 marks. The candidates were required to
answer all questions in section A and four questions from section B
making a total of 14 questions.

The candidates’ performance in each question or topic is regarded as
good if they score from 70 to 100 per cent; average if the per cent
ranges from 40 to 69 and poor if the per cent ranges from 0 to 39. In
this report, the candidates' performance is also presented in different
charts and tables by using colors whereby the red color represents
poor performance, yellow represents average performance and green
shows a good performance

The analysis of candidates’ responses shows the requirements of each
question, what the candidates were able to do, and the challenges they
encountered in answering the given questions. Samples of extracts for
good and poor responses from the candidates are given to elaborate
the stated cases. Lastly, the report ends with a conclusion and
recommendations.



Table 1: Candidates Pass Grades in DSEE 2022 and 2021 in

Information and Communication Technology.

Grade

A

B

C

D

% of
Candidates in
2021.

0

34

1083

921

26

% of
Candidates in
2022.

163

2849

1073

13




2.0

2.1

211

ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION

SECTION A: Short Answer Questions

In this section there were 10 compulsory questions. The candidates were
required to attempt all questions. Each question carried 4 marks to make a
total of 40 marks.

Question 1: Fundamentals of Information and Communication
Technology

The question required candidates to explain the efforts made by different
institutions in ensuring that their clients are getting the correct, authenticated
and updated information. In that regard candidates were asked to use four
factors to provide the importance of information. The question intended to
examine the candidates’ knowledge to demonstrate skills of processing,
interpreting and disseminating information.

A total of 4,154 (100%) candidates attempted this question, where by 809
(19.5%) scored from 0 to 1.5 marks, 2365 (56.9%) scored from 2 to 2.5 marks
and 980 (23.5%) scored from 3 to 4 out of 4 allocated marks. Statistics shows
that the candidates’ performance in this question was high since 80.4 per cent
scored between 2 to 4 marks. Figure 1 shows the summary of candidates’
performance in this question.
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Figure 1: The candidates' performance in question 1
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Statistics shows that most of the candidates (80.4%) who scored good marks
understood the requirements of the question and also had knowledge that
information dissemination in the level of an institution is the bridge that
connects the management and subordinates. The candidates in this group
provided various correct reasons which support the demands of the question.
For instance, one of the candidates wrote, “to make clients aware of
modifications and improvement made on certain service or goods”. Another
candidate wrote, “Is for the purpose of promoting and improving better
communication within the institute”. Other candidates in this category wrote
several importance of communication in any formal set. Extract 1.1 shows a
sample of correct response from one of the candidates.

z.e,ﬂ!ﬁn{ Y aflie n‘h'co\‘txl! and u.ﬁci_oub

-

" Lo ol bifn aL &
G ln Jdocder— B pard? auallty fCosvics
a\nd quccl; é c,u-enhf k (

Sy “To male Nlenlt avwae? ot medislwléd
ﬂ"‘—"t ;monvef\n-lz—nt made on A Ca_fGJ;}.

Lomaee ‘ov ?5zd:'

Ly 6 w o morf o gel manc Wc.‘?en't{'
cbue B (o P—et"u;\ﬂ in J—Q - rrar et Ao
(lwd “1o .ensuce availa bils and easd,
acces tovvicet and "Ls.de P 4§
L,l?a.nt‘j J

Extract 1.1: Candidates’ correct response in question 1.

Extract 1.1 shows one of the candidates who responded correctly question 1.

Contrarily, the analysis of data indicates that, 19.5 per cent of candidates
who scored 0 to 1.5 out of the 4 allocated marks were unable to give the
importance of information dissemination to an institution. Some of them
misunderstood the requirements of the question and hence ended in
providing just the required efforts by the institution instead of explaining
the importance of those efforts. Some also had grammatical errors in their
explanations, while others provided all four incorrect reasons. Extract 1.2
shows a sample of an incorrect response from one of the candidates.
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Extract 1.2: Candidate’s incorrect response in question 1.
2.1.2 Question 2: Computer Programming Languages

In this question candidates were required to identify the memory space
contained in the statement “In God we trust” in the storage area by
counting the characters.

A total of 4,154 (100%) candidates attempted this question, out of which
4,153 (99.8%) scored from 0 to 1.5 marks, and 1(0.02%) scored from 3 to
4 out of 4 marks allocated. The data shows that the candidates’
performance in this question was poor, since 99.8 per cent scored below
1.5 marks and only one candidate who managed to score all the four marks
required. Figure 2 shows the summary of candidates’ performance in this
question.
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Figure 2: The candidates’ performance in question 2

On the other hand, the candidates who scored low marks (0 to 1.5) lacked
knowledge about computer programming languages and its requirements.
Many of the candidates in this category had misconception about computer
programming especially in the area of identifying the number of the
characters required in the storage area. For example, one candidate wrote,
“the statement in God we trust that it is easy to remember, it makes
relationship among God with people, and it keeps people closely with God”.
Another one wrote just the words, “IN GOD WE TRUST” in four of the
options needed, this shows they were not aware of what exactly the question
requires. Extract 2.1 shows an example of an incorrect response from one of
the candidates in this question.
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Extract 2.1: One of the candidate’s incorrect responses in question 2.
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2.1.3

In Extract 2.1 the candidate failed to understand the requirements of the
question and hence ended in giving different explanation about the word IN
GOD WE TRUST. These responses imply that, the candidates had no or
limited knowledge on computer programming and therefore failed to
provide the intended response.

However, the analysis of performance indicates that one candidate (0.02%)
who managed to score all the 4 marks was able to identify the characters in
the statement IN GOD WE TRUST. This shows that the candidate
understood the requirements of the question and also had adequate
background knowledge on basic computer programming. Extract 2.2 shows
a sample of a correct response from one candidate.

“Th lod we Trugk”
“Tn God We Toud” = 194yt
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Extract 2.2: Candidate’s correct response in question.

In extract 2.2 the candidate was able to identify correctly the characters in the
statement IN GOD WE TRUST.

Question 3: Generic Software Applications

In this question the candidates were asked to describe the type of relationship
that exists between two tables in a given case as well as drawing an entity
relationship diagram to show the relationship in the given case. The candidates
were expected to exert their knowledge on database systems.



A total of 4,154 (100%) candidates attempted this question, out of which 4149
(99.99%) scored from 0 to 1.5 marks, 5 (0.12%) scored from 2.0 to 2.5 marks.
The statistics show that, candidates’ performance in this question was poor
because 99.9 per cent scored below 1.5 marks. Figure 3 shows the summary of
candidates’ performance in this question.
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Figure 3: The candidates’ performance in question 3

Statistics shows that 99.9 per cent of the candidates who scored low marks (0
to 1.5) were not aware of the requirements of the question. This implies that,
they had inadequate knowledge on database systems and hence failed to
provide the correct responses. Some candidates under this category did not
score any marks because they could not describe them clearly. For instance
one candidate mentioned flow chart followed by a flowchart diagram as the
relationship and diagram required, another candidate just wrote “the
spreadsheet”. Extract 3.1 shows a sample of an incorrect response from one
of the candidates.
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Extract 3.1: An incorrect response of one candidate.

Extract 3.1 shows that, the candidate misunderstood the question and hence
ended in describing star topology which is contrary to what was asked.

Further analysis of data shows that 0.12 per cent of the candidates who
scored average marks (2 to 2.5) were able to at least describe the type of
relationship that exists between the two tables in a given case. While others
in this category tried to draw an entity — relationship diagram to represent the
relation in the given case. Extract 3.2 shows a sample of a correct response
from one of the candidates.
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Extract 3.2: A correct response of a candidate in question 3.
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Extract 3.1 shows that, the candidate understood the question and hence
ended in giving correct answer in some part of the question to what was
asked.

Question 4: Computer Programming

In this question candidates were asked to distinguish dimensional from multi-
dimensional array by giving one C++ array declaration statement.

A total number of 4,154 (100%) candidates attempted this question, out of
which 4154 (100%) scored from 0 to 1.5 marks. The data shows that the
candidates' performance in this question was extremely poor and this is due
to the fact that 100 per cent of the candidates scored O to 1.5 marks. Figure 4
shows the candidates performance in question 4.
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Figure 4: The candidates’ performance in question 4

All the candidates (100%) scored low marks (0 to 1.5) since they all failed
to distinguish dimensional and multi-dimensional array by giving one C++
declaration statement correctly. One of the candidates wrote, “C++ is the
high level language program which used to conduct at highly speech within
a computer”. Their responses show that they were unaware of the
requirements of the question as well as lack of knowledge and competence
about C++ programming which would at the end give them an ability to
10



attempt the question undoubtedly. Extract 4.1 shows a sample of an
incorrect response from one of the candidates.

“ Ob\m N\om\ P.(bm. '\QLLM)( only m wu.l MM‘L c}“‘“”‘ﬂ'ﬁ‘ Pll(:vmm“u.w
_\\-M\ o ‘Iu'd

\') b\-\mmwlv Muq tn ﬁm e Wx '\U\Jl M\utmm de no{‘c&np
1\ g "‘u&‘"ﬂjﬁ“pmw

) Dtmior Mw NANTA 2 JAM@M@ wa‘u:w
R

O 0 P AP 8 e e
M ?'*T«L o

Extract 4.1: An incorrect response from one of the candidates.

In Extract 4.1, the candidate failed to distinguish dimensional from
Multidimensional array by giving one C++ array declaration statement.
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2.1.5 Question 5: Computer Basic and Networks

In this question candidates were asked to compare smart phones and
computers.

A total of 4,154 (100%) candidates attempted this question, out of which
3,20 (7.7%) scored from 0 to 1.5 marks, 4,23 (10.2%) scored from 2.0 to 2.5
marks and 3,411 (82.1%) scored from 3.0 to 4.0 out of 4 allocated marks.
Data shows that the candidates’ performance in this question was good,
since 92.3 per cent scored between 2 and 4 marks to imply that they had an
adequate knowledge to exert the features that compares smartphones and
computers. Figure 5 shows the candidates’ performance in this question.
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Figure 5: Candidates’ performance in question 5

Statistics shows that the candidates who scored high marks (3 to 4) gave
clear similarities between smartphones and computers with 55.3 per cent
scoring the full marks. The candidates in this category who could not score
full marks had either grammatical errors in their descriptions or provided
some incorrect similarities. This indicates that candidates had adequate
knowledge on the concept of computer basics and networks. Extract 5.1
shows a sample of response from a candidate who answered this question
correctly.
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Extract 5.1: Candidate’s correct response in question 5.

Extract 5.1 shows that, the candidate has managed to describe the common
similarities between smartphones and computers.

On the other hand, 7.7 per cent of the candidates who scored low marks (0
to 1.5) had insufficient knowledge on computer basic and networks. For
example, one candidate gave the features of small computers instead of
giving out the similarities between smartphones and computers, the
candidate wrote “small computers have low spread in transfer
information”. Extract 5.2 shows an example of incorrect response from one
of the candidates in this question.
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Extract 5.2: A sample of an incorrect response from a candidate.
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2.16

In Extract 5.2, the candidate was not able to provide the similarities between
smartphones and computers using their features and hence focus on
highlighting wrongly the features of small computers. This indicates that the
candidates lacked knowledge on computer basics and networks.

Question 6: Fundamentals of Information and Communication
Technology

In this question the candidates were asked to provide the effects of
prolonged television watching to human health.

A total of 4,154 (100%) candidates attempted this question, out of which 960
(23.1%) scored from 0 to 1.5 marks, 1,035(24.9%) scored from 2 to 2.5
marks and 2,159 (52%) scored from3 to 4 marks out of 4 allocated marks.
The candidates’ performance in this question was good, because 75.1 per
cent scored above 2 to 4 marks. Figure 6 shows the summary of candidates’
performance in this question.
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Figure 6: The candidates’ performance in question 6
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Most of the candidates who scored high marks (3 to 4) responded to the
question according to the expected demands. Their responses indicate that
they had adequate knowledge on the effects of the prolonged television
watching to human health such as laziness of the body, loss of eye or blind
and reduce the ability of performance other activities at home. Extract 6.1
shows a sample of correct responses provided by one of the candidates.
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Extract 6.1: Candidate’s correct response in question 6.

In Extract 6.1 the candidate who managed to explain briefly the effects of
prolonged television watching.

Most of the candidates (31.9%) in this group could not score full marks
hence they fell in an average group and this is because they explained
fewer points while others provided unclear descriptions. In addition, the
candidates who could not score full marks outlined the effects of
prolonged television watching instead of explaining them in brief.

On the other hand, 960 (23.1%) candidates who scored low marks (O to
1.5) did not meet the requirements of the question. For example one
candidate wrote, “to click title bar in order to minimize or maximize size
of Microsoft screen”. Some of the candidates in this category outlined the
positive impact of prolonged television watching instead of its effects to
human health. Extract 6.2 shows an example of an incorrect response from
one of the candidates who responded to this question incorrectly.
15
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Extract 6.2: candidate’s incorrect responses in question 6.

In Extract 6.2 the candidate incorrectly spent time in explaining about king
Majuto rather than focusing in giving out the effects of prolonged
television watching. This is the sign that they were not aware of the
requirement of the question and hence ended up in guessing the answers.

2.1.7 Question 7: Computer Laboratory Management Skills

The question required candidates to explain why foods and beverages not
allowed in the computer laboratories. In this question, the candidates were
expected to demonstrate the knowledge on how computer laboratory
regulations are well maintained.

A total of 4,154 (100%) candidates attempted this question, out of which
1,033 (24.9%) scored from 0 to 1.5 marks, 2,743 (66%) Scored from 2.0
to 2.5 marks and 378 (9.1%) scored from 3 to 4 marks out of the 4
allocated marks. The candidates’ performance in this question was good,
because 74.99 per cent had their scores from 2 to 4 marks. Figure 7
shows the summary of candidates’ performance in this question.

16
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Figure 7: The candidates’ performance in question 7

The analysis of data shows that candidates (76.6%) who scored good marks
managed to explain how the computer laboratory regulations are
maintained. Some of them (0.07%) scored full marks while others could not.
The candidates who could not score full marks were able to mention
correctly few laboratory regulations. Other candidates in this category
outlined three appropriate computer laboratory regulations without
descriptions. Extract 7.1 shows a sample of a response from a candidate who
answered this question correctly.
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Extract 7.1: Candidate’s ca)-r7rect response in question 7.



In Extract 7.1 the candidate mentioned factors such as when beverages gets
contact with the computer screen they will damage it and lead to less
proper function and was able to describe them accordingly.

On the other hand, most of the candidates who scored low marks did not
understand the requirements of the question at the same time lacking the
required knowledge about computer laboratory regulations. For instance,
one candidate wrote, “food is not allowed because food may attract the
computer user to eat during taking meal, remember there is some particles
with the floppy disc facilities the damage of the computer which ensure the
cost 7, this is definitely the wrong answer as it shows the candidate’s
inability to identify the laboratory regulations . Extract 7.2 is an example
of an incorrect response from one of the candidates.
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Extract 7.2: Candidate’s incorrect response in question 7

In extract 7.2 the candidate explained things like spread of virus and
bacteria as one of the computer laboratory regulations, this contrary to
what was required. This implies that the candidate had no knowledge
about computer laboratory regulations.
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2.18

Question 8: Websites Design

This question required candidates to provide the positive impacts of
search engines in contributing to students thinking capacity, problem
solving and decision making. The question aimed to assess the
candidates’ knowledge on the web design.

A total of 4154 (100%) candidates attempted this question, out of which
1326 (31.9%) scored from 0 to 1.5 marks, 245 (5.9%) scored from 2.0 to
2.5 marks and 2583 (62.1%) scored from 3 to 4 marks out of 4 allocated
marks. The data shows that the candidates’ performance in this question
was good, because 68.1 per cent scored 2 to 4 marks. Figure 8 shows the
candidates’ performance in this question.
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Figure 8: The candidates’ performance in question 8

Majority of the candidates (68.04%) scored high marks (2 to 4) because
they had knowledge on web design and development. One candidate in
this category wrote, “Search engines help students to search materials
easily and hence get deep understanding of concepts”. Another candidate
wrote, “Search engine enable students to get notes online”. These
responses indicate that candidates had sufficient knowledge on search
engines in regards to website design and development. Extract 8.1
indicates a sample of correct response given by one of the candidates.
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Extract 8.1: candidate’s correct response in question 8.

In extract 8.1 the candidate managed to explain correctly the impacts of search
engines to students.
Further analysis indicates that few candidates (31.9%) scored from 0 to

1.5 marks. This implies that they had inadequate knowledge on advantages
of search engines. Moreover, some of the candidates (29.9%) scored O,
marks and that they could not state the advantages of search engines.
Extract 8.2 shows a sample of an incorrect response from one of the
candidates in this category. Extract 8.2 where it shows how the candidate
misunderstood the requirement of the question and hence ended in
providing the negative effects of the search engines.
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Extract 8.2: Candidate’s incorrect response in question 8.
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2.1.9 Question 9: Planning and Preparation for Teaching Information and
Computer Studies

This question was as follows: The integration of ICT into learning is vital in
the modern learning. Here candidates were required to explain how ICT can
be integrated in the learning of mathematics and science subjects among
student teachers. The aim was to assess the candidates’ ability to integrate
technology into learning.

A total of 4154 (100%) candidates attempted this question, out of which
339 (8.28%) scored from 0 to 1.5 marks, 774 (18.6%) scored from 2.0 to
2.5 marks and 3041 (73.2%) scored from 3 to 4 marks out of 4 allocated
marks. The data shows that the candidates’ performance in this question
was good, because 89.71 per cent of the candidates scored above 1.5 as
shown in figure 8.
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Figure 9: The candidates’ performance in question 9
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Responses of candidates who scored high marks (2 to 4) wrote answers
that were related to the demands of the question. These candidates
managed to show how ICT can be integrated in the learning of
mathematics and science subjects.

The candidates’ responses in this category show that, they had the
sufficient knowledge on identifying ways by which ICT is integrated to
the learning of mathematics and science. Some of them identified the use
of computer programs in doing some mathematical calculations, for
example the use of spreadsheet program. Others in this category
understood the question by listing animation, videos and still pictures as
one of the means to describe science concepts. For instance, one candidate
wrote, “ICT is for keeping statistical records of students” which are all
correct responses. Extract 9.1 shows a correct response from one of the
candidates in this category.
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Extract 9.1: A sample of a good response from one of the candidates.

Extract 9.1 the candidate managed to explain correctly the how ICT can be
integrated in mathematics and Science.
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Further analysis of data shows that, the candidates (8.28%) that scored low
marks (0 to 1.5) failed to show ways where ICT is integrated to the
learning mathematics and science subjects. For instance, one candidate
wrote, “In mathematics ICT a best price shopping while in science ICT is
used in science agriculture like use of tractors to simplify work.” This is
absolutely a wrong response since it does not have any connection with
what was demanded by the question.

Candidates who scored low marks (0 to 1.5) in this question were not able
to show how ICT can be integrated to the learning of mathematics and
science subjects. Extract 9.2 shows a sample of a response from a
candidate who answered the question wrongly.
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Extract 9.2: A sample of a poor response from one candidate.

In Extract 9.2 the candidate incorrectly did not show how ICT can be
integrated into mathematics and science subjects’ inspite of writing wrongly
the spreadsheet formulas. This indicates that the candidate lacked
knowledge on how ICT is integrated to mathematics and science subjects.

2.1.10 Question 10: Planning and Preparation for Teaching Information
and Computer Studies

The question required candidates to analyze four curriculum resources
necessary during teaching and learning process.
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A total of 4,154 (100%) candidates attempted this question, out of which
1,971 (47.4%) scored from 0 to 1.5 marks, 973 (23.4%) scored from 2.0 to
2.5 marks and 1210 (29.1 %) scored from 3 to 4 marks out of 4 allocated
marks. The data shows that the candidates’ performance in this question
was good, because 52.3 per cent of the candidates scored above 1.5 marks.
Figure 10 shows the summary of candidates’ performance in this question.
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Figure 10: The candidates’ performance in question 10

On the other hand, statistics show that candidates who scored low marks
(0 to 1.5) misunderstood the requirements of the question and hence
ended up in identifying the wrong curriculum resources. For example, one
candidate wrote, “plan, students, schools and experience”. Other
candidates in this category confused the curriculum resources and
classroom equipment and hence mentioned measurements, charts and
dusters, rulers and pointers as their responses. Extract 10.1 shows an
example of an incorrect response from one of the candidates in this
category.

24



: 43> YYel\ps a Wacher Yo ltach Alie Larme
en ‘o Systermatic ordec .

= L\ ﬁ&’&\)& ea el g a.,.\_(j \2arnara L
?vou,ss “Lo fnhws the Conteant eteorly.

= 1> trelps thg Wasners ‘o q&\, the mieccesary

m_odLL,—‘:aLE \A)\AJch\ .S\A_o all .Sq,ppoitcl Yo
qﬂt uSlhien o Ltaz\_t .

s ﬁL\"’.& (L\z Laxners and 1eachenrs Te ke

o e LA ave Confidence n all the |
Prwcess | op tedclin Cand \earalrg:
)

Extract 10.1: An incorrect response in question 10.

Extract 10.1 indicate that the candidate fails to realize a needs of question.
The question needs 4 curriculum resources for teaching and learning. The
candidate explained the importance of curriculum.

The candidates who scored good marks managed to analyse the curriculum
resources necessary during teaching and learning process. In their analysis
they mentioned syllabus, textbooks, scheme of work and lesson plan as the
commonly used curriculum resources, this is the implication that they had
competence about the topic. A total of 1,210 which equals to 29.1 per cent
of all the candidates scored full marks in this question. However, some
candidates in this category could not score full marks due to grammatical
errors. Extract 10.2 shows a sample of a correct response from one of the
candidates who attempted this question.
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Extract 10.2: A sample of a correct response in question 10.

In extract 10.2: The candidate was able to identify curriculum resources
during teaching and learning process.

2.2 SECTION B: Essay Questions

In this section there were 04 compulsory questions. The candidates were
required to attempt all the questions. Each question carried 15 marks to
make a total of 60 marks.

2.2.1 Question 11: Multimedia

In this question the candidates were required to assess the contribution of
Multimedia in teaching and learning process. They were asked to use five
points in the descriptions.

A total of 4,154 (100%) candidates attempted this question, out of which
166 (4.5%) scored from 0 to 5.5 marks, 1,068 (25.7%) scored from 6 to
10.0 marks and 2901 (69.8%) scored from 10.5 to 15.0 marks out of 15
allocated marks. The data shows that the general candidates’ performance
in this question was good, because 97.5 per cent of the candidates scored
between 6 to 15 marks. The summary of candidates’ general performance
is shown in Figure 11.
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Figure 11: The candidates’ performance in question 11

The analysis shows that 69.8 per cent of the candidates who scored high
marks (10.5 to 15.0) were able to explain correctly the importance of using
multimedia in teaching and learning process with appropriate examples.
Nevertheless, some of the candidates in this category could not score full
marks due to various reasons such as inappropriate organization of ideas and
lack of appropriate examples while others explained less than five points.
Extract 11.1 shows a sample of a correct response from one of the
candidates in this category.
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Extract 11.1: A sample of a correct response from a candidate.

Extract 11.1 indicates one of the candidates who correctly discussed the
contribution of multimedia in teaching and learning progress as required
by the demand of question 11.

Moreover, the analysis indicates that some of the candidates who scored
average marks were able to write five or less points without explaining
them, some of them gave partial answers.
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On the other hand, few candidates (4.5%) scored low marks. These lacked
essay writing skills. They simply outlined one to three points instead of five.
Other candidates in this category managed to write good introduction but
they explained elements of multimedia instead of the importance of
multimedia. Extract 11.2 shows the sample of an incorrect response from
one of the candidates.
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Extract 11.2: Candidate’s incorrect response in question 11.

Extract 11.2 indicates one of the candidates who incorrectly discussed about
elements of communication instead of the contribution of multimedia in
teaching.
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2.2.2  Question 12: Principles of Teaching and Learning ICS

In this question the candidates were asked to explore five benefits
secondary school students get from learning ICS.

A total of 4,154 (100%) candidates attempted this question, out of which
79 (3.8%) scored from 0 to 5.5 marks, 852 (20.5%) scored from 6 to 10.0
marks and 3,223 (77.6%) scored from 10.5 to 15.0 marks out of 15
allocated marks. The data shows that the candidates’ performance in this
question was good, because 98.1 per cent of the candidates scored above
5.5 marks. Figure 12 shows the summary of candidates’ performance in
this question.

100 -

90 -
80 - 77.6
70 4
60 -
50
40

30 -

Percentage of Candidates

20.5
20
10 - 38
o -+ E————
00-1.5 20-25 30-4.0
Scores

Figure 12: The candidates’ performance in question 12

The analysis also shows that the candidates who scored high marks (10.5
to 15) were able to explore five benefits secondary school students get
from learning ICS. Some of them managed to write clear introduction,
description with clear examples and conclusion to show that they had
adequate knowledge in this topic and also aware of the requirements of the
question. Extract 12.1 shows a sample of a correct response from one of
the candidate in this category.
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Extract 12.1: One of the candidate’s correct responses in question 12.

In extract 12.1 a candidate shows correct response about benefits secondary
school students get from learning ICS.
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In addition, most of the candidates who scored average marks (6 to 10)
were able to mention five points but could not manage to elaborate them
all.

On the other hand, majority of the candidates who scored low marks
(0 to 5.5) mixed the exact meaning of ICS abbreviations by writing
information and communication studies instead of information and
computer studies, they were also able to provide some points but in
nutshell, some managed to incorrectly provide all five points required.
This shows that they had inadequate knowledge on the topic, Extract 12.2
shows a sample of an incorrect response from one of the candidates who
attempted this question under this category.
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Extract 12.2: An incorrect response in question 12
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Extract 12.2 shows that, the candidate was unable to explore benefits that
secondary school students get from learning ICS. The candidate was not clear
with the explanation so ended in describing the overall use of communication
in a school setting rather than the benefits of ICS to students this indicates
that the candidate had limited knowledge on the topic.

2.2.3 Question 13: Generic software applications

The question required the candidates to analyze the importance of opting for
word processor during the preparation of notes. The question aimed at
assessing the candidate’s ability in the application of computer programs.

A total of 4,154 (100%) candidates attempted this question, where by 1808
(40.8%) scored from 0 to 5.5 marks, 1,178 (28.4%) scored from 6 to 10.0
marks and 1,168 (28.1%) scored from 10.5 to 15.0 marks out of 15 allocated
marks. The general candidates’ performance in this question was average,
because 56.5 per cent of the candidates managed to score from 6 to 15
marks. Figure 13 shows the summary of candidates’ performance in this
question.
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Figure 13: The candidates’ performance in question 13
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The candidates’ response shows that some candidates who scored low marks
(0 to 5.5) were not able to correctly explain five importance of opting for
word processor during the preparation of notes; some of the candidates in this
category had inappropriate explanation for some of the importance of opting
for word processor as well as grammatical errors. Extract 13.1 shows a
sample of an incorrect response from one of the candidates in this category.
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Extract 13.1: Candidates’ incorrect response in question 13.

Extract 13.1 shows that, the candidate failed to explain clearly the
importance of opting for word processor during the preparation of notes.
Further analysis shows that most of the candidates who scored average
marks (6 to 10) explained three to four points while others were repeating
Some importance of the word processor.
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On the other hand, the candidates who scored high marks (10 to 15) where
able to meet the question demands. They showed ability in explaining the
importance of opting for word processor during the preparation of notes.
Some of them were able to write correctly the introduction and other
important parts of the question. Many of them under this category
mentioned editing process, storage of documents and formatting features
of word processor as one major importance of opting for that program.
Generally high performance of candidates in this part is the proof that they
had sufficient knowledge in generic software applications. Extract 13.2
shows a sample of correct response from one of the candidates.
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Extract 13.2: One of candidates’ correct response in question 13.

Extract 13.2 is performance of candidate who had sufficient knowledge in
generic software applications.
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2.2.4 Question 14: Socio-Economic and Cultural Aspects of ICT

In this question, candidates were required to elaborate five assessment tools
that can be used in assessing Information and Computer Studies in secondary
schools.

A total of 4,154 (100%) candidates attempted this question, out of which
3,226 (73.6%) scored from 0 to 5.5 marks, 759 (22.3%) scored from 6 to 10.0
marks and 169 (4.1%) scored from 10.5 to 15.0 marks out of 15 allocated
marks. The general candidates’ performance in this question was poor,
because 73.6 per cent of the candidates managed to score below 5.5 marks.
Figure 13 shows the summary of candidates’ performance in this question.
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Figure 14: The candidates’ performance in question 14
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The candidate’s response in this questions shows that those who scored low
marks (0 to 5.5), were unable to provide the correct response due to the fact
that they were not sure of the requirements of the question. Some candidates
in this category elaborated incorrectly few strategies where effective
communication in a classroom can be improved. One of the candidates
wrote, “To ensure power supply for communication to occur”.

Definitely this is the sign that they also lacked knowledge on how to answer
questions regarding social-economic importance of ICT. On the other hand
those who scored average marks (6 to 10) were about 22.3 per cent of all
candidates and were able to at least provide some strategies of improving
communication in the classroom and their performance was supported by
things like appropriate introduction and relevant conclusion.
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Extract 14.2 A sample of an incorrect response on question 14.

Extract 14.2 shows a candidate who did not meet a demand of a question.

The statistics show that majority of the candidates who scored high marks
(10.0 to 15) managed to propose five strategies that can be used to improve
communication in the classroom by giving relevant examples. Many of
them pointed staying focus, knowing the audience and being concise as
ways to improve communication. One candidate wrote “use simple and
clear language in order to provide effective transfer of information.” Their
responses stand as a base to show how much the candidates are well
equipped to the concept. Extract 14.1 shows a sample of correct response
from one of the candidates.
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Extract 14.1: Candidates correct response in question 14.

Extract 14.1 shows that, the candidate managed to propose correctly five
strategies to improving communication in a classroom.
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3.0

4.0

CANDIDATES’ PERFORMANCE IN EACH TOPIC

In this examination, the questions were set from 10 topics. The analysis of
the candidates’ responses shows that the performance was good in the topics
of Principles of teaching and learning ICS (98.1%), Multimedia (95.5%),
Computer basics and networks (92.3), Fundamentals of information and
communication technology (78.7%), Computer laboratory management
skills (75.1%) and Planning and preparation for teaching ICS (72.2%). The
good performance was a result of correct interpretation of the questions and
candidates’ good practical skills.

Moreover, the candidates had average performance in the topics of Website
Design and development (68.1%). This performance was an outcome of
insufficient understanding on basic computer-related concepts.

However, the candidates performed poorly in the topics of computer
programming languages (100%), Generic software application (28.3%) and
Social-economic and cultural aspects of ICT (26.4).This is because the
candidates lacked equitable knowledge on the topics. The performance of the
candidates in each topic is shown in the Appendix.

CONCLUSION

In this examination the majority of the candidates responded to most of the
questions correctly. The analysis on each question shows that the candidates’
performance was good in questions 1, 5, 6, 7, 9, 11, 12 and 13while it was
average in questions 8, 10 and 13. On the other hand, it was poor in question
2,3,4,and 14.

The analysis on the 10 topics which were examined shows that 8 topics had
good performance, 3 topics had average, and the remaining 4 topics had poor
performance. Therefore, the overall performance in Information and
Communication Technology in 2022 was good. The reasons for the good
performance include sufficient knowledge and skills in most of the examined
areas. Moreover, it was due to the candidates’ ability to recall, explain, and
make analysis in answering the questions.
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5.0

The analysis of the candidates’ performance in each topic indicates that the
candidates had difficulties in answering questions from the topics of computer
programming, Computer basics and Networks and Generic Application
Software. The poor performance in the questions is attributed to the
candidates’ insufficient knowledge and skills on the topics. They also seem to
lack knowledge on the given concepts, since some of them interpreted
wrongly the asked concepts.

RECOMMENDATIONS

In order to improve the candidates’ performance in Information and

Communication Technology examinations, the following should be done:

@ It is necessary that, teachers/tutors should provide more exercises, tests,
and examinations to enhance students’ mastery of theoretical concepts,
and improve their practical skills especially in areas where more
practical’s are needed.

® Education stakeholders, such as the government, parents and school
managers are advised to ensure that schools and colleges have well and
equipped ICT laboratories. Such laboratories will facilitate improvement
in teaching and learning especially practical activities.

© Students should be encouraged to learn English Language effectively in
order to be competent in answering questions particularly those questions
which require extended descriptions.
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Appendix

SUMMARY OF THE CANDIDATES’ PERFORMANCE IN
INFORMATION AND COMMUNICATION
TECHNOLOGY (ICT) SUBJECT

. Performance Average
SN Question in each performance Remarks
Topic number question (%) per Topic
(%)

Web design 8 68.1

68.1 Average
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Average

. Performance
S/N Question in each performance Remarks
Topic number question (%) per Topic
(%)
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